
Bag 1, Replace Page 33

CANOPY BASE ASSEMBLY LEFT SIDE

Canopy Base 
Support
(H1437-S)

Socket Head Cap 
Screw M3x8mm
(HC050-S)

Canopy Mount Base 
(H1101-S)

Canopy Mount Base 
(H1101-S)

Socket Head Cap 
Screw M3x8mm
(HC050-S)

CANOPY BASE ASSEMBLY RIGHT SIDE

Finishing 
Washer M3 
(H0007-S)

Canopy Base 
Support
(H1437-S)

Finishing Washer M3 
(H0007-S)

REAR FBL POSITION

FRONT FBL POSITION
Socket Head Cap 
Screw M2.5x8mm
(HC020-S)

CANOPY BASE 
RIGHT SIDE 
ASSEMBLY

Nylon Nut M2.5
(HC200-S)

CANOPY BASE 
LEFT SIDE 
ASSEMBLY

Socket Head Cap 
Screw M2.5x8mm
(HC020-S)

Socket Head Cap 
Screw M2.5x8mm
(HC020-S)

CANOPY BASE 
RIGHT SIDE 
ASSEMBLY

CANOPY BASE 
LEFT SIDE 
ASSEMBLY

Socket Head Cap 
Screw M2.5x8mm
(HC020-S)

For replace Canopy H1516:

Remove 2 H1386 as Fig.11.

Remove 2 H1358 and H1348 as Fig.22.

01

FULL RAW CANOPY [H1516-S]



Box , Bag 2

CANOPY

*Install Canopy grommets (Fig.1) and the two quick knobs (Fig.2) 
*Fit the canopy in the red arrow zone, and insert the knobs.
*Confirm the canopy is secure prior to each flight.

Canopy Knobs
(H1101-S)

Canopy Grommet
(HA021-S)

RAW Upgrade Canopy
(H1516-S)

NOTE:
Put a very small drop of CA glue on the grommet 
and then insert the quick release canopy mount. 
This way when you remove the canopy, the 
mounts can not come off. Be careful not to block 
the quick release mechanism with glue.

Canopy Front Block
(H1439-S)

Sefl Tapping
Screw M3x10mm
(HC136-S)

Canopy Front Block
Assembly

Replace ESC Plate

ESC Plate
(H1228-S)

02

RAW CANOPY UPGRADE [H1516-S]


	Sheet1
	Drawing View2
	Drawing View8
	Drawing View9
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View15
	Drawing View16
	Drawing View17

	H1516-S-02.PDF
	Sheet1
	Drawing View9
	Drawing View11
	Drawing View12
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20



